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— 275 KUY B22 MoK 11:’?:: N>R 772 1235722 T2 nta YR NNO9T X239 AN
N29 stated, the rule is like 29 that a miniscule amount of y»r, which
became mixed up on 109, whether with its kind or whether not with
its kind, is forbidden

OVERVIEW

The X723 (on the previous TnY) cites a dispute between (?X1w7) 27 and 2" 1 ',
regarding forbidden foods which were mixed into permitted foods. 27 maintains
that ¥ wn2 11°12 11 7N PR 922 and 11°7 1°RWA 1P is aYY 1M12 TI0K; however
by ynm even 11°n 11°Rw2 1 is also 1wn2 for we are 11°01 11 VX am.2 However '
5"93 33 maintain that 7702w P0°K 95 whether it is 12 PR or 12 1RWA A is
7oXR only ayv 10112 (and the same rule applies to 7092 y1m). ¥21 ruled that nod3 yin
whether it is 12°12 or 112 K7W is 1Wn2 70X like the ruling of 27. There is a dispute
between '010 *"w1 regarding the ruling of X27.

- 2197 %399 “YnWna 1993 1T *pYIina srus pes

*"w1 ruled in 797 No0» that 192 11 is N0 even 1Twna like 2 -
= 9502 XD 19992 119 (x,0p pon) TWAN YD P93 9INT

Who states in w257 ®2 p=2 that 292 12 is not Y2, but rather prohibits the entire
mixture -
- 557 NDAYNT Y9 NING 329 $127 PRI DNA N 339 N

And even %21 stated there that that the words of >''9 are preferred, inferring
that this is the ruling, namely that 202 X2 192 7.

NvOIN continues to cite °"wA there:
= (%30 97 NIT NTIAYT XINA P93 N2 AN D97 XM NN NYAN I

And additionally >"v1 brought proof (that the 775777 is like *"1 that ¥wn2 1302 o)

" ypn2 1 means that a drop of yan dough (for instance) fell into a large 7x» dough; 122 WXWw2 1 means when a
crumb of bread fell into a pot of chicken soup (in both cases the entire mixture is 710X).
* See Xow 7"7 2,00 >"w" that we are 713 by par because it is an N1 Mo°X and people are not 7217 72,
3 X,0p 97. We cite a section of the *"w1; 2R1MWY 27 ,;7°N0PWA "27 7Y P RAT 2202 RY 1002 PAT 570 2273 12 RMP N1 K27
;01 (2,09 A7) 777 A712Y N20M2 1TNID RN NWA2 N2 702w PO 92 3770 CINRT ORIMWY 277 NP PNYWI Ml
X2 POD 11 (X,?) 0°N0931,(R,10) A7 ATI2Y NO0M2 "D RIAM 132 KON 9ANKRT HRIWT 273 1PT 17 XINAT X2 PR 10vnw()
TRYYY 27 WA N2 ROV 1PWIONT ,ITWHI 1N KW 1°2°22 P2 T2 Yan RN3777 X237 MRT 1IWN2 1Wn3 17 270 Xnaon
AR VAW 702 U1 INRY 01N WK 0272 RDT DWW W0 10K Y712 27 9713 112 K7W WWNI 1R TN PIOR 9D IMRT
a7V M2 73997 37N,
*If a drop of non-kosher chicken soup falls into a large vat of kosher chicken soup (much more than sixty times the
amount of the drop), nevertheless the entire vat becomes M0X.
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from the dispute between X291 32K in the last P92 of 3''¥ N207 in a case where -
= MPYT RININY YOINT XININ RIDPYT XIN XININT XN

Wine vinegar and 22w vinegar, or wheat sourdough and barley sourdough
became mixed up (the vinegar with vinegar, and the sourdough with the sourdough) where one
was I and the other was 70X (it was either X717 of 701 1 or Xan of 22u/m217Nn)

= DYV 1M1 99K AN IIVNI 99N Na9

X217 ruled that it is MoK even if it was only a 17wn (of the forbidden X5r or X7 nn
which was mixed in the X7°m X717 of n°7), while 2N stated that it is 790X only if

the MO°X can give a taste in the N7 (AYW INNI2); it is possible to taste the NOX in this

mixture. The reason for their dispute is -
- 61vbm NNIYL 992 929 99 51)’5??& NAY 992 929 97 Ovn

Because this master (X27) maintains we follow the name, and this master (»2X)

maintains we follow the taste -
- "ynwna 19913 PN X2 12 ARY 192 NIYN

It is evident that both according to >°a8 and according to 829 that 11522 12 is
naa.

mMooIN continues citing >"wA there:
= 29271259192 P10 NNYNYI NI9 PO TV

And furthermore, X239 ruled in our X923 like 29 that ywn2a %2 9. This
concludes the citation of *"wA in P.

In summation, >"%1 maintains that the 71377 is like *"1 that 2°v2 R 1°'»2 1», and °>"w" brings three
proofs; 1) *27 states >3 727 X3, 2) in the dispute between X271 AR (regarding X7 mm ROn) it
seems that all agree that 17wn2 11°n2 17, and 3) in our X773 827 rules like 27 that 17wWn2 11722 PH.

mooin disagrees with >"'wA:
- %5395 X9) N19N% 5299 XY 1990 PNT NONT DN YN 997 9N O 13529

And the n'"1 counters that all these proofs are not valid proofs, for the 71297 is

not like "2 (who maintains 7°v2 X? 122 1) and not like 929 (who states *927 Px73
*"'9); this refutes the first proof of >"w1 —

> According to X271 since both items have the same name (vinegar or sourdough) they are considered 172 T» (the
same kind) and 7°v2 X% 11722 1n, therefore the mixture is 70OX.
® »ax maintains that since the taste of wine vinegar is different from the taste of 12 vinegar (and the TR of 2%un
tastes different from the 7w of »yw) therefore it is considered 11 11°Xw2 11 where the rule is that it is 101X only
ayv 10112 (if you can taste the MoK in the mixture [of n°7]).
" The (only) reason »ax argues with X217 (and maintains a¥v 1n113) is because he considers it a case of 131 1Xw2 T"n,
however if it were a case of 1122 71 then he too would agree that it is 17wn2a 0.
¥ Others amend this to read 27. The rule is generally like "1 >" (who maintain v"113) against >Xw1 27,
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mooIn rejects the second proof of *"wA as well:
- 78299 $ANT XONYD NIt DAY NIDNT NINA 7997 NN

And regarding that argument between X371 %2K in the last P92 of "'y noon
regarding the vinegar and the sourdough which indicates that they both maintain ¥wn1 1112 P,

it is also no proof, for -
- Yynuna onv YIPY YY) 1IN 229 ¥INT T0I 129 DAY NHNY NYNINT 91991Y 2810

We can say that it is regarding =8w of %2u and vinegar of 791 1" where even "9

5'"11 agree that they are 37w22 q0X; therefore there is no proof from there that 110°X %3
5502 XY 13 A 7NN —

mooIn discusses the third and final proof of *"w=:
= 90Y0VN DY 295 NN POIDY 91390 W 295 1NYNA 132D9) IN NOYNYT

And regarding our X923, that depends, if the text reads that nod2 ynri is MOX
290 7wl one can say that X271 rules like 29 regarding y»n (that y»n is 0K

11712 ROV 1921 13°12 12 17wn2) but not for the same reason that 29 maintains -
- Mnwna 19953 AINaY PNTIN Y93 1YY XPA0(T) 294

For 21 maintains that all 7912w 1971938 are 17222 12992 0 -
- Zynnt X990 DIV ND9A YN XPYT NIN 159 1%Y a9

However X237 does not maintain that 17wn2a 7702w P10°XR 92 (even 11°12), rather
only ropa y»m is 17wn2 because of the stringency of ynn.

mooin finds support that by 7102w 0°0°KR 3 it is 70X only aYYL 1MIA even NI Pr:
= 292 N29 PO NN NPITT 2 PO 131120 INTIN 29 ON

And also 1IR3 58737 '3 ruled this way that only by y»n did 829 rule like 29 (that
it is M2 RYW 1721713 72 17Wn2 MOK) -
= 1307 Y295 DYV 1N IN 295 HNWNI ANNAY PNDIN Y NMIPN IYNYT

For they asked 7X3 *X717 ' regarding 7902w P10 5 is it MOX even ywea like

29 ruled, or is it MOX only ayw yn1a like 331715 ' ruled -
= YWH2 13903 NIV 12393912 172 191013 \HN N9 9N 2PU)

? See footnote # 7.
19 See 2,35 1"y where the X3 states that "1 *" agree that regarding 701 7 and 2v that they are ¥wna 70w, The
reason for 701 1 is because of the stringency regarding 1"y, and by 220 we say 110X 72 17°nid that just as separating
one 77 as 7MIN exempts the entire 15 from being 22v (a 710 17w is sufficient to nullify the %2v status), similarly
a 92w 1wn can also be 10X a large amount of A1, Additionally 20 may be considered a Y2°9Xw 17°nn 12 wow 137
212 X7 7982 (one can simply be 7370 w19 from this mixture).
' Therefore (according to 27) 12 par is 3Awna 1O like 77N2w 2> MO°K 93 and by 12 K9W it 77wna MoK because of
a 77’1 (see footnote # 2).
12 See footnote # 2. According to X271 there is never an 177wWn2 70X according to the 7777 Tp°¥, except for yan (and
other exceptions) where the 2°n517 were 711 that it is 17WnN2 0 (even 1% 11RWI ).
" According to some he is the author of the m917x Ma%71. See however footnote # 15.
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And he replied, since X237 stated that 7w 1192 X9 192 11922 P2 1R Y277 -
= Y9WNA 395 NOYN [1NM] XNA )5 DN

Therefore only regarding y»n is the 572%:7 like 21 that it is ¥7@»2 0N -
- WYPY WYY 1INY 2295 OV 1NN PNTIN INVA YaN

However regarding other 2571958 (besides y»r) the rule is that it is apw 013 0
like %' "=\, This is Mo0n response to >"w if we are 0™ here '273 17wn2'.

mooIn offers an alternate response to s""w proof from our X1A:
- 155 £93 XY MY MaYha ynRwn 12 ¥a95 ynuna 1P049) RDT DN 13529 9IN NI

And furthermore says the n'' that the text does not read '29> ymwn2', and it

also seems that the 2''772 was not 993 the words '275 17wn2" in his text -
= 1919 292 ¥IN2 D) NIHY 920

And X219 agrees with >''1 even by y217 that it is MO8 only oy 1MI2 whether it is 122 or
12 ROW -

mooIn anticipates a difficulty:
- %3099 %395 NaYN NITNA PO NYT XM

And the reason X271 did not explicitly rule like "9 -

mooIn responds:
= ND 19112 XDV DAN 19112 NON 19599 PO NIT NN NINT 0Ivn

Because we would have said that %27 rules like >"9 only u»a (that it is 70X

v"12), however by 11212 85@ he does not rule like *" (who maintains that it is not 70 at

all); the reason we may have assumed that, is —
- 17‘["19‘19 PIYNY 2329 UPT NIN RUIP N2 90N NNT NIVTIN NIYT HWPN NOT

In order that you should not have the contradiction from one ruling of 829 with

another ruling of R29, for 21 stated that w''1 instituted a fine, as the X713 asks

shortly -
- YY9Y PIVYIN I9NY

' The 3 reads (according to the n"7) that MOX 1172 K7W 1°2 1°12 121312 ¥n K27 K. The text does not state the
last two words 272 17wn3, which means that (even) according to &27 it is MOX only O¥v 1N112. (even 11912 7°1)
15 [This would seem to discredit the assertion made in footnote # 13.] The text in the 3"72 (and also in the 7"")
reads; 272 7Wwna MORT R"W NP7 RNYW K21 27 K27, indicating that he was not 0713 the words 213 ywn'.
16 %37 should have just simply said 131 "2 7977 (who maintains avv 012 11°12 ROW 12 12992 192 1312 yan and  ROW pan
1372 is 1132 ROW 1°2 11132 1°2 1N), since (according to the n"9) this is the view of X327 (why mention all the details)..
7 The xm3 asks how can X271 say that 70 112 K7W 192 1112 1°2 w12 ROw pan (indicating that noo:n Yoy 12yw yan is
1nn), when X217 also states that even according to @' there is an 712771 10K for noon 1oy "avw yan. If X217 would
have merely said 737 "1 1397 (without mentioning the details) we would have assumed that this is only regarding
1312 Y1, but by 112 R9W v he would not agree to "' that it is 1M since X271 maintains that 7097 Y9Y 129w ynn is
ToX even according to w"A.
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Therefore it was necessary for X217 to be explicit and state that the 715971 is like > both
by 1337 70 (that it is ¥"132 70X) and 1377 MK (that it is AN [since NN ORI K7]).

Mmoo offers proof for his view that X327 maintains ©"112 1122 Pt
= 702 93°92 199 (ow 3,3 pon) NYIN 19 P92 NAYY 1D R0 NXITNHAT NN DN 1929 N>

And the n''9 brings proof, for X219 in 7w 753 P95 explicitly maintains that y»

1oma is Hv1 if there is sixty'® times as much n°7 as there is o™ -
- NpYON BPINY XIYST 19913 11 5919) NNPYVA 1939 1IN T IRDT
Where X271 stated, ‘the 3127 said (we verify) through taste, etc. Therefore if it is a
mixture of 11°%2 1°» where we cannot verify if there is a taste of 1o>x -
- 792 NYY9P KDY 1992 XYW 199 1) ON
Or similarly if it is 1°»2 5w 32 and there is no gentile ‘chef’ (that can taste if

there is a v of MOX), the MOX becomes 72 when there is sixty’ times as much 07
as there is 710°R. This concludes the citation of the X n. It is evident that X217 rules that 932
7IN2Ww 2°NM0°K whether 11°12 11 or 10 1PRWA P it is 902 (either XYY or '02).

mMooIN anticipates a rebuttal to this proof:
= NN NPYL HNT 22309 RNTN XN 299917 MIINTY PN

And we cannot reject this proof by saying that 27 (when he says '02 11°n2 1°2) is
discussing where ‘new wine’ (grape juice) of 2n°17 were cooked with grapes of

T0°K (for instance 7127Y), where it is the same taste (one cannot discern whether there

is a taste of the MO°X grapes in the N7 wine) -
= 19919 YN KDY DIIN NNV 9N2 NIYT DIVN /D2 MM

And it is 'o2 72 because X271 maintains that we follow the name (wine, grapes)

so it is not considered Y3522 71 (since the Mo°X and the 70’77 have different names), but
rather 1°n 1°Xwa 1n and therefore it is '02 Y03; however if it would have been actually Wn2 11
then &2 would have ruled that it is 2°v2 &5. This seemingly refutes N0 proof —

mooIn responds that we cannot be discussing such a case:

= 139193 1993 19D 29D INNN 15 ONY
For if indeed this were the case why does X271 refer to it as 11°»2 %%, since Xan
follows the name it should be called "% 11°&w2 1. Therefore we must conclude that X217 meant

'8 Regarding 13 1 we cannot say oyv jna (even if we maintain that it is not 17w»2 70W), for we cannot taste the
MoK in the N7, since they are the same kind. Therefore we assume that if there is sixty times 70’7 more than MO°X
the MR is 202 (it is as if there is no MR oyv here).
19 We cite the X there (which actually begins on &,1¥); ,2°ww3a 1127 7MAKY ,X?°0P2 1127 MK ,XAYL 1327 MR K27 ART
X295 RDP9T RTIOKT 1R RWA TR 71 O RAVOR ap°n? K297 wna ot K900 KMORT ,XAYha X7 W00 0RWA PR 7990
DWW,
0 See footnote # 18.
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an actual 11°n2 Pn and nevertheless it is '02 Hva.

mooIn offers an additional proof that X279 maintains 11°»2 77 is '02 Hv2:
- 25519) 9ANR 9219 999104 1993 NN 229 9207 N2 2IVN (ow) x5 MNm) n34 XN

And in 7239 y»Ip7 270, 829 answered that 5''9 maintains in a case where there is

119232 12 and something else, etc. The rule is 12021 15V 727 10 WRWI PR 13 17 DR P70
(disregard the 11°n of 7n°7, so that the 12°1 1°X can be Hvan the Mo°R (if there is 17310 '0) -

= 1199 5’9 1INT HYan
We can infer from s'®27 answer (which is; that "7 maintains), that X217 does not
maintain that, for since X271 maintains that '02 12°12 "1 there is no need for the process of nX pH0
1PRW °»3 17 for the 11 can combine with the 11° 1°X to be Hvan the 7.

mooin offers additional proofs that 202 11712 1n:
- 5021993 1N APY 12 MHN 39 YADP (0w x,ey Ry CNAVIPNN 7793

And in maynn pap we find that >'"aR= maintains that 12 12922 192 (not like *"9) —

mooin offers another proof:
= PYY 1INNT MY Y (0w 3,0y 7 YA NN Y0WA FanND NPT XHEND)

! In the mwn there (on &,23) 777 "2 rules that if the y»1p of a 71271 ninn (which needs to be brought on the nam)
became mixed with a m°wn 37725 NN or a 0°501 NN they are 7109 and cannot be brought on the mary, because the nman
7271 is a thicker dough (less oil) and the o201 3"775 NMan are a looser dough (more oil), so the y»p> of the 7271 N
absorbs the extra oil (more than the required amount) and therefore it is 7109. The X3 asks (on 3,23) since it is 1"
1112 (oil mixing with oil) there should be no problem for 2°02 &2 11922 1" and the initial oil of the y»p is not 203 and
should be fit for 7a7p:.
2 %21 answered that in case of 112 7 M217vn and a third ingredient (as it is here; the 1w of the y»™p, the 12w of the
A"13 minan [which are 1112 1] and the flour (which is 111 11°K), we remove the 11°1 (the 12w of the 3"715 nnan), so the
11 1K (the flour of the 3"75 nnan) can then be Hvan the 1w of the ymp. [This applies to I MoK as well; if there is
a Mamwn of MOR w3 with 07 w31 cooking in a pot of soup, (if not for the X120 of 11°RW 15 1wn NX PO all the w2
in the pot would become 70X and the soup would need to be '0 times all the meat in order to be van the 70X,
however) we say 1°RW »3 1 DX P20 (so we disregard the 201 meat) 1702 1°9Y 727 10 R (and the soup needs
to be '0 only 7315 the 70°X w2 not 7313 all the w2).
* The xn>™a there discusses an 2°231 " %@ vay (a bedpan) into which a 21 urinated. The 2237 *» of a 21 are Xnun, s0
this vy is Xnv unless it was washed with water (three times) to remove the 0°737 *» of the 21 (which was absorbed in
this v>av). If, however it was not cleansed with water, but rather with other 2°237 °» (of an 71770 Q7X), it remains Rnav
according to *"7 (since 2°v2 R? W11 1°1), but it is MV according to *"aR7, proving that >"'ax7 maintains 122 P is %13
ayv 1mM12. There is a rule that >"2aR7 n1wn is P11 2p that we (generally) rule like *"2x7 (see '01n there *"2x1 7"7).
2 mpoin refers to this as X7 XAND, even though it was XywIX "™ who said 121 72y 9w (see footnote # 25);
nevertheless the statement that '2°v2 S0 131279', is said in the name of X137 X»ND
» The x7n) there (on X,m?) was discussing the mawn (on R,72) which stated that if a woman borrowed from her
neighbor spices, salt, and water to add to her (own) dough, the rule is that this dough may be taken on v"v only to a
place within the own of both women (since the bread contains ingredients which belong to both women). The
2°X71mK there asked why should we consider the spices, etc.; those minor ingredients should be 711 to the dough and
we can dismiss the D10 limitation of the 122n7 n%¥3, and take the bread wherever the 70°v7 n%¥a may go. Rax
asked, how can you say that the 19an is 2v2, will we say that if a 2p of Pv’n of one person became mixed up in ten
6
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And the X972 states anonymously in the end of 77%°3 noo», ‘they were correct in
laughing at xax ', for regarding -

- NDAYN 3907 Y9913 HP1U2 YV 13395 YA KY AN $3951 91 YVINA SVIN
Wheat mixed up in wheat, granted that according to 7737 '1 it is not w2,
nevertheless according to the 3121 it is indeed %v2’; inferring that this is the
719957 that w'ma Pr is 2.

mooIn finds support from >"wA!
- 7299 9ART KON 22 (x10.1 2°NIT NTIAY NIDNT RINA D993 PO N9 37U

And >"w9 himself, in the last P92 of "'y ndon, regarding the dispute between

X291 »2R, ruled -
- DYV 173 9207 1IN %295 XNIYNY

That the 715%7 is like "', who maintains that it is M0X only ayw 30132 even by
N2,
- Boyu 1ma mM9PNna N99NNT PO NINSON YW M1 Mavha)

And 2"772 from N°npoR ruled that if a piece of M0°X was cooked with other

similar pieces of N7 it is MOX only w''M3 -
= (i P AN 93 9993 NI 11910)

And the 3"772 brings a proof from X239 in 7127 793 299 who stated that 'o2 1902 11 —

moon wishes to clarify:
= 9% AAY 9D TOINIYI XPYT O 13939 9N NWUNIA *onn 9INPT 7093 1"

The n''1 says regarding 921 1 which the X713 ruled there that it is y77@w%2 70X,

that is only if it was wine which was actually poured before an 1''v, but it is not
referring to 03 ono, wine of a 121 (which is MoK only 1312777) -
- 793 Pnxana 19T 19 BND YA ANIN SNOIN) 1INV 137 5090 Pwat ng pRsannNt

1011 7RO of another person that it is 202 and the 2p7 9¥2 will not receive his 1v°n 3p (the same should be here by the

1°2an that it cannot be 5v3). The other 2°X1X laughed at X2k ", and XWX "7 justified their laughter, saying why did

not Xax " ask regarding a case where a little barley was mixed into much wheat, because since it is 11 1°X@2 71 he

agrees that it is 903, the same is regarding 1°»2 P» according to the 1327.

0591 537 ", see (3) 127 MAaT and ©"wi NN there.

?7 See previously in this maoin (footnotes # 5-7).

% They were 1'n2 1. See footnote # 18.

¥ See previously this maon (footnote # 19).

30 2,3¥ 1"V (see footnote # 10).

3! The mwn on X2 reads XITW 932 2932 0°M1 172 1 RITW 932 N0IR) IOK 701 1. The case of o°»2 0 can only be if the

o°n was 1"V "19% JoIny, for there is no other case where the o°n can be MoX. Similarly the 1 (which is ¥wna 10IX) is

also only by 1"'¥ *15% J01n1w 1, but not by 01> ano. See X271 MR 7"70 X,7¥ 1°2117 '0n. See footnote # 32.

2 The mawn in X,79 1" reads; 191 P22 MW 022913 AT TO1 P AW 932 PO POX 1K, the Xna there asks why

does he not mention other 2>710°X which are 17wn2a 70X (like 1092 y1n or 72°21 M2°nn). The X7na there answers, X7
7
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For that X713 is referencing the mwn there which has two requirement to be
172 0 that it be a hamaw 937 and N2 MeN, however 31 an® which is
permitted fIX273 is '©3 M.

mMooIN continues to offer more proof that (2°M0°X IRW21) 11°12 7 is QYY JNN2:
= 051539 NN DY 21V DI 13939 ANOY DINNIN NAIYNI)

And the n''1 found in the Responsa of the 2°1%x which was written by »''t 5" -
= GUN2 199N YA 1IIN) ININD ION 17Y 39D 130D TUINY U3 )

Regarding 1'"'>* which was poured before an 1'"'y; that wine is 78272 99K and it is

not 2 even if it was mixed up in something a thousand times its amount -
- %9159 703 1% RINY 92 ANIN VIR 1NN PNON 1IN *130ww 1m5

As we learnt in a mwn, ‘these are prohibited and their prohibition is an =%°R

7R3T even an admixture of a miniscule amount; 701 1%, etc.’ -
- DYV I 1993 NYY 1729 1353 152 703 199 H201 YIN 139 BN PNDIN INYT 9910

It can be inferred that all other 2°72°X and 21> ang, except for %av and 1",
are 10X only ©v'"113, whether it is 12922 or whether it is 112 Now.

mooIn relates to actual 7097:
- *naywn on19°29 HYY XY NDA YNNI

However, regarding y»mr on o952 the n''1 did not issue a ruling that it is 502 if it is

not oyv 1M1 in order to permit it -
$OYV 1M \NHNA D) NPY NN NAIT NIPN 12 INNAN 297 MNINVAT 2) by 9N

Even though that it the ninxw of "XnX 21 it also states that X239 maintains even

by nesa ynan that it is 70X only ®©'"112 (but not 17wn3), nevertheless the N"1 was not

lenient.
:[N29 98 99NHNNND M9 N, 1’5\!’1 MAvVIN Ny 1”93]

SUMMARY

ARIT MO PP102w 727 7°% N°K °n7n Xin, however nosa ynn is not a aaw 127 and MY 21 M>°Nn are not X172 TOKX,
therefore the 7awn does not mention them. w">y. See 2"w17n here.
¥ moon is (seemingly) assuming that 21 ano is AX372 9N and since we just said (footnote # 32) that the 71wn only
mentions 7IXAT MO (P°IIAW 127), so obviously when the 771wn mentions 701 1 (among those that are w'"32 70) it
must be referring only to 7013w 1 which is X372 70K but not to 0°1 ano which is X172 1NN, See however the 11923
0"wi who claims that 01> ono is X172 7OKX. He therefore suggests that the text in N190IN here needs to be amended.
See 170 AR "W,
MRy,
3 Presumably these are the words of ¥"v *"3, who is inferring this from the words of the fawn.
% See R "7 X,1¥ 7o MO where it states; AR 7Y ANAWAY 7% (1) 777 7092 ARMA NYININA TOR PREM A
nooi1 (even though it was not 011 and there was 0°ww). The reason may be that the correct X07°) here is that 7092 yan
is 17WnN2 70K even by 111 11°KXWw1 11 (because of the X1 of y1n). See footnote # 12. See ‘Thinking it over’.
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X217 X 7"7 '0I0 R, 0°n1oo .7"02

""w7 (in 797) maintains that 122 17 is MWH2 MO, even by 2 10°K KW, However
MooIN maintains (and >"w7 in 1"V agrees) that by 2>70°X IXW the rule is that it is
either v"12 (by o1 1XW2 1) or '02 (by W12 ). There is an MWw»2 MR by Hav
" (including wnn 701 1 [not 01> ano]) and the n"1 was also 7ann by y1n even by
12°7 11°RW2 11 not to be "2 NN,

THINKING IT OVER

The n"9 was not 7092 71 "N even by 11°1 11°RW2 1’73.37 How would the n"A rule if
the mixing up happened on rod 27y after MXN (where it is XN*7X72 70X, but there
is no n13 2rm)?°®

37 See footnote # 36.
38 See yur oo,
9

TosfosInEnglish.com



